2 1 (200) AH2H2|E g 1 (230) RYAMIR =
Mgt (234) == = ! (401) A|‘QH|Z S CHH| (el - M
Bog-oMY = ot | SN | 3%
2 A 40,175,704 | 51,518,627 | 211,342,923
=H| 15,483,000
INE=C] 80,057
’la 846,771
200 22H2|& 40,175,704 | 51,518,627 | 211,342,923
=H| 15,483,000
A= H| 80,057
’la 846,771
230 RS 28,038,707 | 43,971,690 | 215,932,983
=H| 15,483,000
Al =8| 80,057
’la 846,771
234 A5& 25,942,857 | 42,861,290 | ~16,918,433
=H| 15,483,000
=] 80,057
’la 846,771
401 AlgHIZRCHE| 25,942,857 | 42,861,290 | 216,918,433
=H| 15,483,000
A= H| 80,057
’la 846,771
01 Al4H] 24,637,857 | 41,132,060 | 216,494,203
O 2|5t ot B dH| HEf R AL 100,000,00094x 14| = 100,000
O 149E &A| St 238| BTL Yoz
4,959,000,000¥x1Al = 4,959,000
=H| 3,471,000
O s G| stet= HHIAY 6,221,286,000x14 = 6,221,286
=H| 4,686,000
O AMEMC-ToI-2E ZHH|ALY 2,944,000,000¥x14l = 2,944,000
=H 1,622,000
’la 594,771
O Yo7 oot 2 HH| 895,000,000¥x14l = 895,000
= H| 500,000
O Of=2| 4 5tttz FH| 3,257,143,000¥x14 = 3,257,143
=H| 2,567,000
O H shit OFEote e EBISA 308,571,000&x14 = 308,571
=H| 216,000
Al =8| 9,257




2 1 (200 AEHAE 3 © (230) RUAMAIS
M3t : (234) 122 = . (401) AlEBIZ 2O ol dd
oMY S ot | SN | 3%
O ZYBAR OF2ot4EHTAIR (2E)  400,000,00094x14] = 400,000
=8 120,000
Al H| 28,000
2l 252,000
O MO 7427 | 425,571,0008x14] = 425,571
=6 300,000
O 174 ste=SH 2| A 20 LA (2EA)
2,134,286,0008x14l = 2,134,286
=8| 1,501,000
O gHsteaialy 34 711,000,0008x14f = 711,000
26 500,000
Al 42,800
O HYUY Y AR ZAUL ALY 399,000,0008x14{ = 399,000
O AU St ZHTA} 400,000,000¢x 14/ = 400,000
O 14Uk st SH 2R 20 EX 28| AH|2EZ
1,183,000,00094x14] = 1,183,000
O Horg AUy stz A U | 300,000,0008x14{ = 300,000
02 A2 1,273,000 1,670,000 ~397,000
O HYSYAIT Sh2t2 HH| ALY 473,000,0009x14/ = 473,000
O MM =S54 22 HHIAIY 300,000,0008x14{ = 300,000
O HAUR| T =& 5p42t2 HH| 100,000,000@Ix14l = 100,000
O DHB 2|2 sh2h2 HH| 400,000,000¢x 14/ = 400,000
03 AlMdEChy| 32,000 59,230 227,230
O AR =522 ZH| 5,000,0009x14] = 5,000
O DH22| 2 5H42H2 HH| 10,000,0008x14/ = 10,000
O MB LA Y| A|ZF0H] 3,000,000x 14} = 3,000
O 174 st d 2| A 20 LAY (2EHA)
10,000,000¢x14] = 10,000
O gHsteai2lz 34 3,000,00084x14] = 3,000
O dyUH U 2782 ZRISAAY 1,000,00094x14] = 1,000
235 7|H 3| 1,963,000 1,080,000 883,000
401 AlMH| LS CHH] 1,963,000 1,080,000 883,000
01 AlAH| 1,963,000 1,080,000 883,000
0O &3 steA2|Ad UNAST| 2 3F ZH|SA
100,000,000¢x14/ = 100,000
O Lot st 2| A1 PLC L H|O{THE! ZH|ZAt
115,000,00094x14/ = 115,000
O Y steHe|Ad SAELY St RASAt
394,000,00094x141 = 394,000




B 1 (200) AHEHAS 3 (230) REANAIS
N : (235) 21742 = © (401) AlH| 22 CHY) (el - 32l
oMY ot | SN | 3%
O &dstexeld 84718 Al d 2| WASA
100,000,000¥x14] = 100,000
O &dste{ 2|3 ol 2| FHAALY 122,000,000¥x 14| = 122,000
O Aoty 22 YA AHAT | W3
260,000,000 x14] = 260,000
O A5t A A=MH| HEH A58 HX|
160,000,000¥x 14| = 160,000
O & dstexe|d A2 712223 W 130,000,000 x14] = 130,000
O =522 7HAZ YT CHO|Of T (U2 M E) W 4|
132,000,000 14! = 132,000
O 2=y SEEEE X2|7] JH[SA 300,000,000 x14] = 300,000
O S 32| 2 ZHA MO AIH] A2 A} 150,000,0002x14 = 150,000
237 &7|7HIE 132,850 30,400 102,450
405 ZHtz|=HIS 132,850 30,400 102,450
01 AHtz|SH| 132,850 30,400 102,450
O ot2t= &AFCCTVTY 40,000,000 %20y = 80,000
O =dstexe[d ded 87 12 7,900
O BOO Bi¥7| 4,200,000¥x1CY = 4,200
O Ci&o HiY| 1,700,000 x1CY = 1,700
O SR AZREA| 2,000,000&x10y = 2,000
O =dste2[d dE87| ¢ 22,700
O 23R H7|4 4,700,000 x2CH = 9,400
O g47|s H7|4 9,500,000 %1t = 9,500
O g§=7|8 RCSH 3,800,000 x1Cy = 3,800
O g stiEEy d9r 3¢ 22,250
O d74 6,650,000€x3CY = 19,950
O AtR4 2,300,000 x1¢Cf = 2,300
260 H7tsHH|IZHEIS 5,119,083 4,558,369 560,714
261 HESQURM 5,119,083 4,558,369 560,714
402 DIZERI=O|™ 5,119,083 4,258,369 860,714
02 CQIZCHIHALRIH| 5,119,083 4,258,369 860,714
O &3St Ald 22|t 2FH[(2HH])
2,372,848,0009x14] = 2,372 848
O edEsSsteHe|Ald 22|t 2FH|(HSH])
907,843,000¥x14] = 907,843
O SHsSotrA2|AlE 2e|tid 2FB|(+A713)
1,838,392,000¢x14Al = 1,838,392
800 OflH|H]| 7,017,914 | 2,988,568 4,029,346
801 OflH|H]| 7,017,914 2,988,568 | 4,029,346
801 of|H[H| 7,017,914 2,988,568 | 4,029,346




1 (200) 224212 & (800) ofH|H]|
Mg (801) dilbH = : (801) ofH|H] (Chel - A 9)
~ ~ =
g-g-Mg-F Of| &kl ol Aty 34
7,017,914,000¢ = 7,017,914| 7,017,914| 2,988,568 | 4,029,346
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